AERELE FEE s-1:100

DCIP-K 250 L=18.0m

+T-3 H=0.9m L=13.7m . T-1 H=0. 9m

138.47
138,13

13
M//MM
®

=2.1m

HIVP (RR) ¢ 100 L=1.0m +I-2 HH0.9m

1+ T-3 H=0.9m L=13.9m -2 H0.9m

+T-2 H=0.9m L=1.0m 'L=1. Tm

HIVP(RR) ¢ 100 L=17. 4m

FEBRE R s=1:100
@ —-©

CNO. 3+10. 00

— el LI

DDD[

T36. 61
136.42

H=136. 400

HIVP(RR) ¢ 100 L=1.0m
+T-2 H=0.9m L=1.0m

E 3 ]
T2 2 FFE
I H 4 BRIKARENK#HES)IE
IS KEEHRRETSE

ETER FARRFHRETTIL

R FREETER - HFER

# R B = ‘@ﬁ@%‘ 1/6

R KRBT Ok ER




A% DCIP-K ¢ 250

0,90
waneeZ® e
o W

W-DC1P & 250 d=0. 90 ~><-\>—/‘>/‘>“?/7/ DCIPK 4 44 250 (R 8EH)

IR ¢ 250

DCIPK 250
R ¢ 250

A% HIVPRR) ¢ 100

00—
‘\:‘“’)A/00 .
0.0 — -
et & VSY 341 100 (3RS
o e, HIVP (RR) Z £)%& ¢ 100 x 1. 00
%JV)/‘@/ VSY 342 ¢ 100
s ao.50 T VSV 3451 100
_W-VP$100 d=0.90 )" HIVP (RR) B % ¢ 100 x 1. 00
R =0.90_ e - s e
WP 100 ¢=0.90 4G HI-RR 45"~ vk (H) ¢ 100-27
VS 34246100
HIVP (RR) Z 6% 6 100 x 1.00
%%
Bl T2 2FE
_— I8 BRIGEKENHLHE) IH
IS KEERRE LS
S RREEBBLER BIER|  AHBEAEETL
| EEEH B REREE
>7 Kis #5300
! % R B F ‘Eﬁﬁ%‘ 2/6
WK BT Ok R




{REZERE (SUS 250A) TFEE R s-1:100

(J=2% HE) SUS 250A L=50. 6m

R
16— \\;f/\\/ i 2 ;\\uz M
// 0w \ -
0 - ‘ D D D
145 | 7 145,76 B gy - /\)( -
o s
/ \ %
e 142.98 — i / 2 B }}'\\,\‘\; 136.42
_ ST~ 140, £ <@ 136.43 .
- . \ , 643 2 {Y\g o
&S ) s 140.40 g ¥ S o
— *136.50 L
SN — X =] -
" e % == % 41 N T T
138.47 = ‘i = B4 é (}\_\';}
?M——r—zﬁ“‘g'_”_’ — 3616 6.2 13629 I3 'r’; H=135. 400
[ e ‘ 136.2 / 2 )
T g o | 9CNO. 3+17. 06 —— o
i ® or
4 130.35
& ::/\ = As
’i o =\ S e 129.73 :
=t - A oS o\ - o
— == = ) - (S o
== 131,16 e 120,44
= A = —
B S F - = =
o rEATA S = 128.61
CNO. 3+10.00 NP~ o= )
s
2
(DCIPF) b= (DCIPA)
Abyn =N 7" ¢ 250 #UET $250 #IET $250 THiKTFE ¢ 250X ¢ 250
{x£tT-5 H=0.9m {fxtT-6 H=0.9m L=1.0m {x£tT-6 H=0.9m L=1.0m {fx+1T-4 H=0.9m
(DCIPFR) (DCIPA)
FE Abyn -1 h7" ¢ 250
RtT-4 H 0. 9m {x+x-5 H=0.9m
ot v
TEFTE R s-1:100
ﬁx SUS 100A &% SUS 100A {RE% SUS 100A
% 5% 5% SUS 250A
CNO.3+17.00
x4
T2 25
I %4 ERIKATENK#HS)IE
ITHSKEEHRRETSE
T &R MFBMRFHRETTIL A
h CNO. 3+10. 00
) EEAF| RHEE 2500 FEE - HEEE
8 R B ® ‘@ﬁﬁ%‘ 3/6
R KRBT OKEE




{REEERE (SUS 100A) TFHEBE s-1:100

+T-2 H=0.9m L=2. 2m

HIVP_¢ 100 L=2. 2m \
(FERETTE)

()-2% GE!) SUS 100A L=48.7m
R
I NN =S .
DI S e
R Yy 9.05
!
) 1
DI
SAoA |
P | 145,94
e (D) g | 1 14576
= o P
SO /
== 2. 16 Ry 142,98
TR s
Y% y
Q
e
138.47 I "

13620

1%, m‘ 6. 21 —— I3

| 0NO. 3+17. 06" /

2k T $100
{REI-7 H=0.9m L=1.0m

#21ET $100
fREx-7 H=0.9m L=1.0m

FEBRE R s=1:100
@ —-©

& SUS 250A

CNO. 3+10. 00

&% SUS 100A

== Z L L e

e 7L
S

X

H=136. 400

S
T2 2 FFE
I 4 BRIKARENK#HS)IE
ITHSKEEHRRETSE
T &R MFBMRFHRETTIL A
EEA#| RHEE 1000 TEE - HEEE
8 R B ® ‘@ﬁﬁ%‘ 4/6

R KRBT Ok ER




GHY

SUS 90" 1u&” 100A

SUS ILHE100AX 1.0
SUS ILEE100AX 1.0m Lo BT
Y

SUS IU4E100AX 1. 0m N
4.0
SUS IV 100AX 1. 0m
\ 4.0 O
SUS IV 100AX 1. Om

SUS ILHE100AX 1.0m \ 9

SUS V4 100Ax 1. On \ M
SUS 90" Ti" 100A —\ M P

ES

1.0
Hﬁ% HI %y7" $100
SUS JLAE100A%1.0m_~

HI $y7" $100

SUS #FEFIEE100A

. %h HI #vy7° ¢100 N
s oL I0oAx L on N E%///// SUS 250A

T 0 > _
W\ e ~ B Y o N Lo
= HEY SUS 2L+¥5250A 1. 5m = 714 SUS 704E250A% 1. 5m
SUS 90" T44" 100A-2 45—\ / .
- . 2.0 ®
] : !
S 3t T 10

0>
SUS 7L4E5250A x 1. 5m Y 00 ¢

40 > % ‘\V\BS"?)/
T
SUS JV4E250Ax 1. 5m e P
40 +0 2 o/ s O\ SUS 90" T 250A
SUS JU4E50Ax 1. 5n / = o

SUS JL4E250Ax 1. 5m 40 VY o
s SUS 90" T 250A
SUS 90" Th" 250A % NNE SUS tE4RIGE oo

5
4.0 N

DCIPA
REfK T

DCIP-K ## ¥# ¢ 250

3

DCIPFA
Abyn' =\ 17" ¢ 250

x4
T2 2 FFE
I %4 BRIKEREHK#HE) IS
ITHSKEEHRRETSE

BTER FABRFHRETTIL P

R R REHER

8 R B ® ‘@ﬁﬁ%‘ 5/6

R KRBT Ok ER




1170

900

i
Al

> w

S

=
2|
|

‘ 800 \l\ DCIP-K ¢ 250

L i |

1170

(fER)

17 Al

#BEL

AL

500

R AL

900

SUS 250A

Rt T-1

900

o
2
|

SUS 250A

=)
18 #l

AR [ A
Al

500

#RL

t

1170

_ARER HREIBTEIRAER] s1:00

1120
900

HIVP (RR)

500

Rt T-2
()

12 8 BEL

g
t 8§
=

500 | \.SUS 100A

Rt T-2
8%

2 & BEL

R
fmH

R A
Al

1010

900
1010

SUS 100A 5o

+T-3
i & #HEL
=
o &
=
DCIP-K ¢ 250 400 500 | 250, HIVP (RR) ¢ 100
1150

5%

R BT EAEER s-1:20

570

570

R+ T-3
(fAE%)
i # BREL
8 fé.*fj FAL 2
) ~
2 ( )
o~ [ =
SUS 250A" | 950 | 300 | 250 |\.SUS 100A
800
R+ T-3
(%)
B EEL
g B gme| o
I g
i={
S [ =
‘ =
SUS 250A " | 250 | 300 | 250 |\.SUS 100A
800

RtT-4

EEER 5120

250

(#,Y H=900)

(FHKTFE)

2 8 BEL

800
900

1570

770

BE | ame g
_ s
C g

AN N . N =

i » o=
g

W=1200 L=1200 DCIP-K ¢ 250

1170

ﬁil%
UET)
£ Hl BRL
8| S|
| FAL S|
!Eﬁ\l '
ﬁ 5
[
800 DGIP*K®250

1020

100
(#,Y H=900)

i e )
ARbyn =N 17°)

i 8l BERL

1470

i
8 = ety AL S
L o
— _—
<
g JCR S g
©| i 61]\ ©|
A v 8
W=1400 1=1900 ]L DCIP—K 250
Rt+T-7
(81 T)
B EREL
W RAE S
o 24
T2 2 FE
I® 4 BRILAREHKHE)IH
( ISfSkEERRETS
- iRt MFHIRFLHET L e
HIVP_ 6100 1 m
500 HELH|  EHELFENR SEEER
% R B = ‘@ﬁﬁ%‘ 6/6
AR ET ok E B




